GTM ™

PROFESSIONAL




[ T LTS o = [ PP 4
[ F= 1 F= Tt = 0¥ o (PSPPSR 6

www.gtmprofessional.com 3 Parts List Book Elephants Trunk V2 - D02-ET20002-01



Harness parts

Parts List Book Elephants Trunk V2 - D02-ET20002-01

www.gtmprofessional.com

PARTNR. | PART NAME ARTICLE NUMBER QTY
1 belt adjusters large MZHC130001004 2
2 male click buckle 45mm MZHC130001005 2
3 large waistband MZHC130001001 1
4 hexagon socket button head screw MZHS01M06016BFN 6
5 large washer 6 MZHS040M0618BIR 6
6 harness (complete) MZHC130001000 1
7 balancer bracket MZHM030239000 1
8 spacer MZHM010105000 2
9 balancer MZHCO8ET20002 1
9a black knob MZHC08CB03001 1
9b spring knob MZHC08CB03002 1
9c cap of spring MZHCO08CB03003 1
9d housing balancer MZHCO08CB03004 1
9e recoil spring with housing MZHC08CB03006 1
of metal knob MZHC08CB03010 1
99 spring, screw, washer for metal knob MZHC08CB03011 1
9h washer to block metal knob MZH0030/6 1
9i washer to block black knob MZHS040M1430PIR 2
10 hexagon socket set screw with flat point M6x6 MZHS01M06006J1S 4
11 hexagon head bolt M6x30 MZHS01MO6030NFN 2

11a countersunk hexagon socket cap screw M6x20 MZHS01M06020CFN 2
12 plain washer 6 MZHS040MO0608PIR 4
13 lock nut M6 MZHS03MO06000LON 2
14 inner hexagon socket head cap bolt M8x25 MZHS01MO08025JFN 3
15 lock nut M8 MZHS03MO08000LON 4
16 tube clamp handle MZHS220000004 1
17 straight tube connector MZHMO010100000 1
18 countersunk hexagon socket cap screw M3x6 MZHS01M03006CFN 2
19 plate MZHM010101000 1
20 outer cable MZHC990001000 1
21 bended aluminium tube MZHM020101000 1
22 straight aluminium tube MZHM020102000 1
23 tube clamp MZHM040003000 2
24 shoulder belts complete - -
25 male click buckle 30mm - -
26 belt adjusters 30mm - -
27 female click buckle 30 mm - -
28 female click buckle 60mm MZHC130001009 1
29 male click buckle 60mm MZHC130001010 1

www.gtmprofessional.com 5

Parts List Book Elephants Trunk V2 - D02-ET20002-01



Balancer parts
PARTNR. [ PART NAME ARTICLE NUMBER QTY
10 hexagon socket set screw with flat point M6x6 MZHS01M06006J1S 4
12 plain washer 6 MZHS040MO0608PIR 4
30 thimble for cable dia 1.7 to 2.5 mm MZHS140011000 1
32 stainless steel balancer cable dia 2 mm (7x7) MZHS240000002 1
33 round groove roller MZHMO010104000 1
34 bearing MZHS12062602Z 4
35 hexagon socket button head screw M4x16 MZHS01M04016BFN 2
36 top end MZHM040004000 1
37 cable guide MZHMO010102000 1
38 V groove roller MZHMO010103000 1
39 roller pen MZHS140007000 2
40 stopping ball MZHS 140008000 1
41 cable ferrule (lock) for cable dia 2mm MZHS140009000 1
42 carabiner MZHS 140014000 1
43 tool mounting ring 75mm MZHS990000009 1
acc. bag Elephants Trunk MZH0090 1

DETAIL A
SCALE 1/2

Parts List Book Elephants Trunk V2 - D02-ET20002-01 6 www.gtmprofessional.com www.gtmprofessional.com 7 Parts List Book Elephants Trunk V2 - D02-ET20002-01



GTM

PROFESSIONADL

www.gtmprofessional.com



